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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E, in the
appropriate space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet Version Code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part A contains 40 questions of
1 mark each and Part B contains 15 questions of 2 marks each. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the
Kannada version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop
making any further markings in the OMR Answer Sheet. Be seated till the OMR
Answer Sheet is collected. After handing over the OMR Answer Sheet to the
Invigilator you may leave the examination hall.
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19 PART - A/ &m0 - &

Answer ALL questions. Each question carries 1 mark : (40 % 1 = 40)
DR, FFNYR) GvZDA. T3 BB 1 wos

! ___is the oldest Veda.
' (A) Rig Veda (B) SamaVeda .(C) YajurVeda (D) Atharvana Veda
93,03 ToueT S 0dF)HI?
(@) o Iex (W) =m0 Sew (B¥) obzyorIded (B) epzen I

70 /2’ Who advocated the policy of ‘Tribal Panchasheela’?

— (A) Mahatma Gandhiji (B) Jawaharlal Nehru
(C) B.R. Ambedkar (D)  Verrier Elwin
‘8B Boesdeey DedabR) 0dRT B3TBAFTO?

)63 (¥) oweg Modees (») wIBO'L® FBTO

i (8) D.es0° wouserd ot (B) $Badbo® Apf

- 3 Which State has the highest female literacy rate in India?

(A) Karnataka (B) Haryana (C) Kerala (D) Rajasthan
PRUSH 0IR 0ati B 83 B13) Bo&vd mFTS AS?

o (¥) sworts (») ®=daimen (13) Begy (B) oowms

art

&

3%~ Which was the Second Backward Classes Commission in India?

s (A) Millar Commission (B) Kaka Saheb Kalelkar Commission

o (C) Havanoor Commission (D) Mandal Commission

13’0‘ PUBE D3ead HoBodd InFny esadeen adRm)o?

’ (8) OO saleen () % maew’ Todeq0° eadecn

(B) HSTTATY esadeen (B) Soomesr esadecn

{o

./ /5/  “The Untouchability Offence’ Act was passed in .
(A) 1972 (B) 1985 (C) 1955 (D) 1947

13 ‘9n mszsaa BID0R F0E DaIRG IaF

(¥) 1972 (2) 1985 (33) 1955 (@) 1947
30
52 /.6. The word ‘Diversity’ refers to ;
;c;" (A) Differences (B) Equality (C) Similarity (D) Dignity
e 'a'gjaqus:s" D0W 353@ _ D0 FUOLWBRIEO.
:I (8) Iwaned (w) B3T3 (8) Boed? (B) s
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Q.P. Code : 96022 | A
/7. Mono-Culturalism is the practice of preserving
(A) Multi-culture (B) National culture
(C) Tissue-culture (D) Contra - culture
28 [0R, 353 2030 BYNT cdRDTBE, RoogRIT)WNE?
() wB>B0E3 (W) O@éﬁ&b 5’03@3
(B3) 38R O (@) vookss, TOT
8. The Bonded Labour (Abolition) Act was passed in .
4 (A) 1970 (B) 1983 (C) 1956 (D) 1976
Be3 IB3S (Qea0es) T203), 25001 OB,
(®) 1970 (w) 1983 (@) 1956 (B) 1976
/Qf.' Mc Donaldization has negatively affected Indian system.
(A) Food system (B) Social system
(C) Judicial system (D) Marriage system
S8 BRmd HeBT’ 22030 03RS SB5od Boees 2TBIZH P DedB?
(¥) @50 ITS (W) WINPT DA
(23) m{so.imori a%ﬁﬂa (B) ooz IBS
10. Mass Media moulds

/l’I ;

(A) Climate Change (B) Court Judgements

(C) Public Opinion (D) Education Policy

BR0NB SPGB DD,

(8) TTTTR WBLITH (w) w30IROOD deB)eniedd

(8) TSI BPT0D (@) Bge ded

Gauthama Buddha is the founder of religion.

(A) Hinduism (B) Sikkism (C) Buddhism (D) Jainism
g won B 8TBIE BIF 035 BI?

(0) &oTAPSe (W) A BRF (¥3) WPB BIoF (B) ¥ FIF

Globalization has reduced barriers between the _

(A) States (B) Countries (C) Districts (D) Cities
PReTakcly datiom)) SRS WBEBHRYTY, 5RE IPBOZT.
(v) omnY (w) Gesnd () wdne (®) dorionY
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l _A3. The word family’ is derived from the Latin word

(A) famulus (B) famulie (C) femila (D) feminine
c.;—aﬂa:@ D02 BO) O I PoR0d 0dns IEBE wodW?
() FBVOF (W) FBOY, (3) Fwe (®) Sde°
/1-4. The Nambudari joint family is known as
(A) Tarawad (B) Illom (C) Nair (D) Garo
TowNATD VIS ﬁowomﬂs&gl 20w 380N,
(¥) Z0=Ed () %o (23) w®o0do* (B) mdwee
15. The process of placing people into different strata or layers is known as
/
(A) Social Status (B) Socialization
(C) Social Stratification (D) Socialism
FBREEITOS BHOB), AIF FORW vg=e STONTN Jondzo= 33,000308),
Q0T FBODSDNT.
() meweis Wo3a) (w) TSPLeTT R
(¥8) =BPLT 30 WY (B) =SRuDT
/1—6. The word ‘Caste’ is derived from the word ‘Casta’.
(A) Greek (B) Latin (C) Spanish (D) French
| '5oRY, DOW BWR) ‘TORY, DO THOVOT WORT.
’ (®) Aes® (w) oaen® (8) =, A (@) Pow'
! A was the Chairman of Drafting Committee of Indian Constitution.
| (A) Nehru (B) Gandhiji
(C) Radhakrishnan (D) Ambedkar
TS0 RT3 FoAFTH FOBE) 8D BT FONGTO.
() Sz (w) mohe
() CTopITHF® (B) wolero®
18. is the main occupation of people in rural society.
i (A) Agriculture (B) Trade (C) Industry (D) Mining
MRAEHN FBNEB WVO BT GurieerizaNs.
(®) z&A (w) =0 () 3neds (@) nedredd

D 5/16 P.T.O.
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19. According to the 2011 census of India the sex ratiois __

(A) 943/1000 males (B) 933/1000 males

(C) 940/1000 males (D) 931/1000 males

279083 201108 wEnedod I50 Aormzome3

(®) 943/1000 nogsy (W) 933/1000 rom>

(@) 940/1000 rio@> (@) 931/1000 Rom>

20. The first Women's World Congress of 1975 was held at i

(A) Nairobi (B) Mexico (C) Beijing (D) Copenhagen
197508 38=0 Sobve 2588 To0r}5° 3 86 BEa3).
() & TRed (w) Foddn (28) Dewdor® (B) vAI Berin

91. The National Commission for Women (NCW) was established in s

year.
(A) 1991 (B) 1990 (C) 1992 (D) 1993
Da&pody Boowd eodpenz®), ofJerllefsinatSples Sy
(o) 1991 (w) 1990 . (@) 1992 (@) 1993

2 s _ of the Indian Constitution abolishes the practice of untouchability.
(A) Article 14 (B) Article 16 (C) Article 15 (D) Article 17
20203 R0TEE - eﬁms?séob eR3I0T OB, DRI,
(9) 2 14 (w) 9916 (8) 2915 (B) 2917

23. The migration of people from one country to another country is known as

(A) Internal migration (B) Esxternal migration

(C) Rural migration (D) Urban migration

B0 2030 Beshow &8R0T deeﬁﬁ;} Sen éf.)em;gqu_ 2060 B abennd.
(®9) 0308 SO (w) wes I8

(B) M= IR (B) ®nd I3
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W

/)4 Who is the present Finance Minister of Central Government in India?

(A)
(C)

P. Chidambaram
Nirmala Sitaraman

WOUS TCOW, ATF O SNT HToR) 3

(@) & Bowdo
(@) ABoree Ae0aRN*

(B)
(D)

Smriti Irani
Rajnath Singh

WSTO 035TO?
(w) 3,8%0Q
(@) Oowmem o

1s the major minority religious group in India.

(A) Muslims (B)

Hindus

WOU3EY i FIFD) BF0d) weﬁ;‘omﬁa’ FRRDTINI?

(®) o (W) &oww

Communalism is a _
(A) Socio-Political
(C) Educational

BACIVTIER) WOmD
(®) =mo=els — vawdead

(w) Bges

Ethnocentrism may lead to
(A)
(©)

Euphobia
Xenophobia

DPRLI0RO (BoOTEORITH) Mowah

(®) 3093 Bode3w Ped
(8) o 3BT Ded

(A)
(€)

Legislature

Judiciary

S50 ‘meF b vort' S0t
(o) zemzaon

(23) wadmont

1s called as the ‘Fourth Pillar’ of Democracy.

(C) Sikhs (D) Buddhist
(8¥) 22° (B) w5
problem.
(B) Economic
(D) Psychological
RBIF 0N,
(w) edrs
(@) oo
(B) Hydrophobia
(D) Caste phobia
BB0% SUTCDRIZE.
(©) QcdT PDed
(B) 28 Ped
(B) Mass Media
(D) Executive
w3, TOohoNS.
(W) 330Rs IRF
(®) wocdswron
7/16 P.T.O.
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_A9.

30.

/?rl.

2.

According to the Article 24 “no child below the age of shall be
employed to work in any factory or mines.

(A) 18 years (B) 12 years (C) 15 years (D) 14 years
200588 24dc dPod IFT SabaRedns Sordas), ainI)de s
ogme nesadd BoRSoM ﬁem?ﬁm%ﬁo@oﬁ.

(v) 18 3I=F (w) 12 3F (@) 153=F (B) 14 I=F

The border dispute of is between Maharashtra and Karnataka.

(A) Belgaum (B) Shimoga (C) Dharawad (D) Karwar
mmoaaiama’g TOOF E3TT BWIS ne 3803, |G

(o) Wdmeo (w) 833nr) (1) woU=T (@) wsa0=0
Communalism is a great threat to country.

(A) Religious (B) Communist (C) Secular (D) Caste
BACIOTITD) B oai-é.&g o dﬁd@z&d&ﬂoimﬁd.

(@) T (w) TSN, (B) wesded (B) w8

The place which receives the highest rainfall in India is

(A) Agumbe (B) Mawsynram

(C) Darjiling (D) None of the above
03T 88 B3y, B¢ eI FTies 035 0?

(®) oo (w) SIO° oacd®

() wredon (B) SB0cdT 0dRFDR B

Thar Deserts are found in State.

(A) Rajasthan (B) West Bengal (C) Punjab (D) Kerala
Fo0° B0TOPRD T BE), FOW) WOLST.

(¥) Dwms (w) @B wored () Towow’ (B) Beod

is the founder of Sikkism.
(A) Guru Govind Singh (B) Kabir Das

(C) Guru Nanak (D) Badal Singh
232 POFW ?Jo:amﬁﬁdo

(o) rOtH eedow or' (w) TDeT* Bork
(@) rBODnE® (®) warer 2or'

8/16
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39,

How many languages are officially recognized in the Eighth schedule of the
Indian Constitution?

(a) 21 (B) 15 (C) 18 (D) 22
903 BOLTINT 8¢ 36?{}@6 aa%mz{iﬁ%fi&gt ¥T3 Rtodomd BRI epleinlfd
(v) 21 (w) 15 () 18 (®) 22
Winter season in India is from . - months

(A) December to February (B) October to November

(C) June to September (D) March to May

RU3TA LYMOT B3

(®) B30wo*AoT FwSO (w) ©BRT OB FSowo®

(8) AT VOT AL P20° (B) Sews*Ron Soe

India covers about of the World’s total land area.

(A)  25% (B) 2.4% (C) 10% (D) 4.2%
PoU3) BToUT wid), 130 nvd), dﬁﬁ&mo&d.

(®) 25% (W) 2.4% (@) 10% (B) 4.2%

India is the sub-continent of

(A) Europe (B) Africa (C) Antarctica (D) Asia
o038 QIR GUH-DOWY, 307
(®) odndecs® (W) &5 (23) wotstdrsd (@) o=

is the highest peak in the world.

(A) Kanchenajunga (B) Mount - Abu
(C) Mount - Everest D) K

TBOWE 8 HITT 80T

(») BoBTEOM (W) S5P05° 2w
(B) R0t HTVF, (B) g,

The southernmost tip of India is called as s
(A) Kanyakumari (B) Sri Lanka

(C) Calicut (D) Indira Point
WEeo RUST 303 RO FYETY 20030 Fabeid.
(¥) soTINO (w) Bewosd

(83) vIdnced (B) 20DU T20OEF

9/16 P.T.O.
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42,

PART - B/awent - @

Answer ALL questions. Each question carries 2 marks : (15 x 2 = 30)
e BB, su3dA. =3 =311 2 [ED 7o 0N

The harvesting festivals of Kerala and Punjab are and
(A) Onam and Sankranti

(B) Onam and Baisakhi

(C) Pongal and Sankranti

(D) Sankranti and Baisakhi

gedy So3y Fowew'S RN BYN

() Weeo B0 Bor08

(W) o 0B W med)

() Hporief Bo8) #0508

(B) R0T,08 B3 WFd

As per 2011 Census of India there were states and L
union Territories.
(A) 29and7 (B) 30and9 (C) 28and?7 (D) 29 and?9

20110 wuntdod $590 y03EE, oR), vazneh S03) FeornBY3 = WeBNIRH)7

(8) 293087 (W) 30DR9  (¥) 28HHT  (B) 293R9

Who was awarded Nobel Peace Prize in 2014 for his service to eradicate child
labour?

(A) Alok Dixit (B) Anna Hazare

(C) Kailash Satyarthi (D) Kejriwala

2390 FAFFT ASOREOTMRN 32T Feldr o=0rt 20140¢ Seceler’ 5208 T33
a¥olekInR

(v) weocs Degs® (v) ©% BT

(B) Zod IRBF (B) Fewmo

10/16
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4/4‘ Match the following :

A B
1. Mohiniyattam (i) Tamil Nadu
2. Kathak (ii) Karnataka
3. Yakshagana (iii) Kerala
4. Bharathanatyam (iv)] Uttar Pradesh
Codes :
(A) 1-ii 2-iv  3-ii 4-i
(B) 1-ii 2-ii  3-1 4-iv
@ 14 2.4 3 4-iv
(D) 14 2-i  3-iv 44l
BB WE0DD :
A B
1. Spwebdadntdo i) 3oTE
2. o@T (i) TReFtss
3. obgms (i) By
4. 03 moby (iv) ev3d Iies
R0TEIND :
(A)  1-iii  2-iv 3 4
(B) 1-ii 2-ii 34 4-iv
(C) 14 2-1i  3-il 4-iv
(D) 1-u 2-1 3-iv  4-iii
45. is the characteristics of Rural Society.

o (A) Small size
(C) Homogeneity

(0) w5 m3,
(8) 33933

(B) Primary Relations
(D) All the above

MACTTD B3IUE OF NN,

(w) =BT Fowoy
(®W) Socds a0IP

46 ____separates India and Pakistan.

(A) Palk Strait
(C) Mec Mohan Line

P08 F03) Tdw Ed;ﬁas%
(®) =T Jcess
&l

(B) BN Boesvt &F

(B) Radcliffe Line
(D) Man Mohan Line

WSesE BRI,
(w) o &5 I°
(B) =0 SeeEe® g

11/16 P.T.O.
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48,

Match the following :

A
1. Rajpath
2. Redfort
3. Kumbamela
4, Jallikattu
Codes :

(A) l-iv  2-ii 8- 4-i

(C) 1-di 2 3-iv  4-ii
BHODE WF0WD :
A
1. vt
2. o) deckd
3. BO0L) Foee

4. wd s,

noFCINY !
(A) 1-iv 2-ii1  3-ii 4-1

B
(i) Haridwar
(i) Tamil Nadu
(iii) Republic Day
(iv) Independence Day

B 14 2-v 3
(D) 1-if 24v 34

B
(ij >0m0
o

(i) ISRy
(i) reevezdRe3ss
(iv) maaforsj s Doewids

B) 14  2-iv  3-i

(C) 1+l 2- 3-iv  4-ii (D) 1-iii 2-iv = 34
Match the following :
A B
1. The Dowry Prohibition Act (i) 1971
2. The Hindu Marriage Act (i1) 1955
3. The Equal Enumeration Act (i) 1961
4. Medieval Termination of Pregnancy Act (iv) 1976

Codes :

(A)  1-iii 2-ii  3-iv 4-i
) 1-i 2-i1 3-iil 4-iv
BR0DL B0 :

A
3064 deted 0%

&LOoBR JTod mabm
ARPD Se3T zmo.i)a
4, a’{,dééeob nede Qo050 a?oba

2l

BoBe3INe

(A) 1l-iii 2-i  3-iv 4-i
(C) 14  2-i 3-iii 4-iv

(B dsil 0280 S8y
(D) l-iv  2-ii  3-ii

B
@ 1971
i) 1955
(iii) 1961
(iv) 1976

B 14 24 . 3eiv
(D) 1-iv  2-iii 3

12/16
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49.

/

50.

Match the following :
A B
1. George Ritzer (i) Dominant Caste
2. Theodre Levitte (ii) Ethnocentrism
3. W.G. Sumner (iii) Globalization
4,  M.N. Srinivas (iv) Mec Donaldization
Codes :
(A) 14 2-iii 3-iv 4-i (B) 1l-iv 24 3-i
(C) 14 2-i 34l 4-iv (D) 1l-iv 2-ii 3-1
0D WB0DO :
A B
1. wow'e O&D° i) Sweowed
2.  PolecrRTt SOk (i) Boo Feol)yITrT
3. Bwy,.% 330 (iii) eRnR3eson
4. 0.08° 8edmTr’ (iv) INE® Bowed plean’
HoZe3NL
(A) 1-id 2-iii  3-iv 4-1 (B) 1l-iv  2-ii 34
(C) 14 2-ii 3-ii 4-iv (D) 1-iv 2-ii  3-i
Which are the two Backward Classes Commissions of Karnataka?
_#A) Naganagowda and Chinnappa Reddy
(B) Havanoor and Mandal
(C) Naganagowda and Nanjundaswamy
(D) Kalelkar and Mandal
FFEIBE VB HoBHPE Sriened cdnz)R)?
(v) mnsmPE S03) wﬁﬁad@a
(w) SBRT F03) BoBEF
(3) TNTIPE B03) BOLIOBTID
(B) BSYD* D3 SooBe®
13/16
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4-

4-ii
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/51. Match the following :
A

1 Print Media

2 Electronic Media
3. Social Media

4 Outdoor Media

Codes :
(A) 1-i 2-iii  3-iv
(B) 1-iv  2-ii  3-ii
(C) 1-iv.  2-ii 3-i
(D) 1-iii 24 3-ii
BB WE0DD :

A

1. S0se Ing
BT BRF

2
3. Aeedaber dedadn
4

dR0 :ﬁaat%;b
ROTEBNY :
(A) 11 2-4ii  3-1v
(B) 1-iv 2-11 3-i
(C) 1l-iv 2-1i 3-1
(D) 1-iii 2-1 3-ii

52

4-i
4-i
4-iii

4-iv

4-i
4-i
4-iii

4-iv

(i)
(1)

(1v)

(i)

(1)

(iv)

The two divisions of Buddhism are

(A) Shwethambara and Digambara (B)

(C) Shia and Sunni

&ﬁd@d&?d QTBEY Feadrigh

(®) 3B¢ze000 =3 Briowd
(3) Badm 3y oA,

(D)

203

ey

()
(%)

14/16

AT

B

Face Book
™™V
Bill Board

Magazine

B
FPETE WOT

£3.9.
Dok Woewts
aﬁo%ri&pca‘

and
Hinayana and Mahayana

Protestant and Catholic

SR OdRT S03) BOBI0IPD
B8 0es° S038) m?st;ifaee‘}as
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/53. The monscens enter into India from and
(A) Atlantic Ocean and Bay of Bengal
(B) Atlantic Ocean aud Arabian Sea
(C) Arabian Sea and Pacific Ocean

(D) Arabian Sea and Bay of Bengal

‘B00MR0Y’ RTBITY, 08 oDoT TeBRI .
(®) e0t3s" TNG wored 3,09,

(W) ©ERoLT FMC S03) VT IS0,

() ©0Y FBNT, T3 Fays® FNT

(@) &R 330G, 3y WY B9
(] - )

)54. Which article was recently revoked that gave special status to Jammu and
4 Kashmir State?

(A) Article 370  (B) Article 302  (C) Article 315 (D) Article 371

as:m@ 203) m%ed oa?:ﬁ a8ex, m@aﬂ 300 BREE QiR &ﬁmm;* REINAY
&oéﬁcﬁa&a%mo&&?

(¥) 2B 370 (») 99302 (33) 29315 (@) 29371

/5€L Expand LPG
(A) Liquid, Petroleum, Gas
(B) Liberalism, Patriotism, Globalization
(C) Liberalization, Privatization, Globalization
(D) Liberalization, Panperisation, Global village
LPG ol D302
(¥) 3w Jednedado, M
(w) SuwodRo, Heedodnetizo, HacweieRn®
(83) OwoSeRn®, $ BerdpeRn’, e endpeda

(@) OO piean’, ToBTEeRn’, foswer Heews

D 15/16 P.T.O.
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Third Semester B.A./B.Com./B.B.A./B.H.M. Degree Examination,
November/December 2019

(CBCS Scheme — Freshers)
SCIENCE AND SOCIETY

Question Booklet Sl.No.

Version Code NC 3 5 0 8 3 6
Time Allowed : 3 Hours Maximum Marks : 70

INSTRUCTIONS TO CANDIDATES

oy

Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2]

Write clearly the Question Booklet Version Code A, B, C, D or E, in the
appropriate space provided for the purpose, in the OMR Answer Sheet.

W

Enter the name of the Subject, Reg. No., Question Booklet Version Code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

5.

This Question Booklet contains 55 questions, Part A contains 40 questions of
1 mark each and Part B contains 15 questions of 2 marks each. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

w

All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

&

Questions are in both English and Kannada. If any confusion arises in the
Kannada version, please refer to the English version of the questions.

=

Immediately after the final bell indicating the closure of the examination, stop
making any further markings in the OMR Answer Sheet. Be seated till the OMR
Answer Sheet is collected. After handing over the OMR Answer Sheet to the
Invigilator you may leave the examination hall.

NS : ZRessng BRE g daly & J)éieT bogRrae SWH IO,
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PART - A/ %30 — &

Answer ALL questions. Each question carries 1 mark : (40 x 1 = 40)
DR BRI Bu3di. I8 BB 1 BT, BRODCIH :

1. The nearly perfect source of energy is

(A) Coal (B) Natural Gas (C) Petrol (D) Tar

303 2DTRTOAIRE BFad Soew

(¥) TOBWw (w) SphFs R (B) Sy (@) 00
2. Darwin’s theory of evolution is based on the concept of

(A) use and disuse (B) natural selection

(C) mutations (D) hybridization

BIFTTVIT D538 22083 SHOUCT TOTON
() w9 B) WYBBTITHTO (w) SRS o,

(33) ovs* IOIIES (@) 033

3 Penicillin is obtained from

(A) Algae (B) Fungi

(C) Bacteria (D) Virus

LSS e clalebEy (a8

() ©& (D) () Fori, (8dcomne)

(¥3) w3 BedOID (@) o=
e
o/ 4. To whom we will call as a “Missile Man of India™?

(A) H.J. Bhabha (B) Vikram Sarabhai
Eo{eby)

(C) A.P.J. Abdul Kalam (D) Sathyendra Basu
Pliss; “2472030 §Hed ¥ROF,” 2080 adRTRY, FE0DLURNIZH?
, 589, (0) =2 wowe (w) DFI* ZoILTOD
eu30

(B) o..8. B FU0 (B) =3com, wad

ef.
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5, The word science comes from

(A) Latin (B) Greek (C) Sanskrit (D) English
am@aﬁ QoW WD) PoR0WOT WOoRT.
(v) oRE* (w) nest (8) ow (B) wHore*

6. Who invented Television?

(A) J.L. Baird (B) Fleming (C) Marconi (D) Newton
t:ifaddz#af:ﬁdi BB LRBSTOT
(v¥) Yook adod.)!:i"Ca (W) FToonk (W) Sebeerd (@) dradwﬁiﬁ

7. The meaning of “Renaissance” is
(A) Rebirth (B) Death
(C) Both (A) and (B) (D) None of the above
DTCBEITE G
() oo Boed), (w) =y
(28) (®) S0 (W) H0BR (B) 88 20dT 3o 8o,

8. Who announced the introduction of National Food Security Act?
(A) Pranab Mukherjee (B) Manmohan Singh
(C) P.Chidambaram (D)  Arun Jaitley
Ta&e0d 650 T3 520D 0d), w01t S0TTTL
(0) Jeed ooDeE (w) S* Seean® 200
() wwowdo (B) ©voe® oded

9. Third generation biofuels are made of

(A) Animal fats (B) Agricultural waste
(C) Algae (D) Engineered plants
Sopvde ISIPOT DT YPBRIRY, ldaRclevnloniopipbrin
(¥) @ Townsy (W) FaF:

(W) = (B) 20EQDBE FZNO

E 4/16
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13.

14.

15.

Q.P. Code : 96021 A
10. The study of micro organisms is called as

(A) Botany (B) Zoology

(C) Microbiology (D) Chemistry

ﬁmmea) weNY wPows, 206 880dns0.

(®) RZZIR, (w) =R,

(23) RATRYEW WD AP (B) CmObLTZR,

Name the Indian American origin astronaut who took over as the Commander of
international space station as a flight engineer in 2012.

(A) Rakesh Sharma (B) Kalpana Chawla

(C) Sunita Williams (D) Tessy Thomas

9903603&&5053 WIBY T ALRHE FBPOBO' e F3) 201289 3 t° 20zdobT* eh
FODFRT), Té2TROW P0dcod ¥RDET JOT MNE aing

(®) vagea® B0F (W) BOPe R,

(B) #dezo 2D0dS* (@) &8 pasm®

The industrial revolution began in country.

(A) Germany (B) Britain (C) Russia ~ (D) America
3,05 53,031t Wl Jede des

(8) 3o (W) D3t (¥) o=y (B) adv.az.a.

Evolution is the study of

(A) structure of plant or animal

(B) life on earth and in space

(C) change in plant life

(D) evolutionary processes that produced the diversity of life on earth
DFeRR) B8 FINT g 0dE NG

(¥) =3 wgoe m9e8 Jesd

() Prdood e 203) DlRIBIT WeST

(23) ﬁ% LSRR WHRIH

(B) Do9n0BB ol Sreds Besoadad FFI 0T, GLOED SRBB,

A wind turbine converts kinetic energy from the wind to energy.

(A) solar (B) hydro (C) electrical (D) mechanical
WOWO Mo¥ 01035 MoYodd ﬁoﬁéﬁoﬁafﬂ% B30d»N BOS3FRIZT.

(@) =z°0 (w) BBae () A (B) odnods

The founder of mathematical analysis

(A) Madhava (B) Aryabhata (C) Sushruta (D) Hanneman
neddzad cod DBeassod HT]TOB

(o) S»ga (W) esaderges (B) =83 (@) =0

5/16 P.T.O.
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16.

17.

18.

19.

20.

The first ever artificial satellite to orbit the earth was

(A) Sputnik (B) Explorer (C) Vostok (D) Aryabhata

Pob 531t %028 Beve wadnzs

(v) R (w) T BREOT (@) =RRp° (®) wobryes
is not an example of renewable source of energy.

(A) Wind power (B) Biomass (C) Electricity (D) Solar
SDEBORWSITIE SUAONY F30D BUIBOH B,

(®) Dow® T30 (W) WeSua8 (v) B3 (®) =0

What was the first disease to be treated with a specific chemical?

(A) Tuberculosis (B) Syphilis

(C) Bacterial meningitis (D) Whooping cough

ODFE, 0pE0LNT BRHOWOT WSriedwes S Spte 220e alns)Eo?

(®) zgodbdeen (W) 29=°

(B) PHowxb &g (B) @0 832
&3 &

Green house gases such as carbon di oxide and methane cause

(A) increase in planets surface temperature by blocking sunlight

(B) decrease surface temperature by absorbing sunlight

(C) increase planet surface temperature by trapping moisture

(D) increase planet surface temperature by trapping the heat in the atmosphere

BA00 20 BAOMYE BOMOT d, 3 T ) Tertrieh

(8) Reobrd 30NN 3R BaBHIY, BB

(W) RRODFT ZPDIR), dot® PN BHID, FBB IR

(1) B2, LBOL, BRI e | BB, BIS

(B) THIVHE DI, 36 &BI Baoab Boee | DIFD) BURIT

Which of the following is an example of genetic variation?
(A) Two children have different eye colours

(B) One person is older than another

(C) One person has a scar, but his friend does not

(D) Todd eats meat, but his brother Rod is a vegetarian

8 FYNTYNYS adna)B BRLB0IT ST GLEIBTEBALING?
() w3ed wfed BedS wey BoBE HTE> B

(W) wORo3 Sodmer So3Rw,

(W) 2ty S0t B0003) ¥BT X ewsdrt 50 WOBTOBT

(B) Bre® SR0m®H0 $UY ¥ST 3= Tas® BRDR- TS

6/16
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2

22,

23.

24.

25,

()

Which of the following is a weather sensing satellite?
(A) Astrosat (B) Radarsat (C) Meteosat (D) INSAT 3 DR

8 FINIINYEA) adnB)@) B30 Boked YUDN,HB?
(©) wioemes (v) vemoTimaes®  (23) edadecats (@) @wm s 3 DR

Who was the father of White Revolution?

(A)  Dr. Norman Borlaung (B) Dr. M.S. Swaminathan
(C) Dr. Varghese Kurien (D) K.N. Bahal

(Aplekin] §e0 53,030 BTG adnTH?

(®) = m3ora® oeoont (W) @ 0.7 MDTF
() wo. SNera* BoB0H® (B) B.ant. wser

Detergents are better than soaps in removal of greasy dirt because

(A) they have longer fatty acids than soap

(B) they have surfactants which make them interact with greasy dirt
(C) they contain less sodium and potassium

(D)  they are water repellents

SREETNL TWRIN0I Ui BRE Y m3 SNBIZSE 5200

(®) mwPAN3 gﬁtﬁ Bed)s uz%ri%iag{ BRODE

() Boed UERETNYS 0BT BEY SRYAINES Iren BTITHOTTTINS
(B) s&D Rechabo =03 FPEA030 BHOBTS

(@) a3) wo JBeedrRw

o Ak . A A

One Nanometer is

(A) 102m (B) 1012m (C) 109m (D) 10%m
WOB W Be ekIT 0BT

(®) 102 2oe (w) 1012 Qe (@) 109 aoe (®B) 10 2oe
RNA means

(A)  Ribo Nucleic Acid (B) Radium Nucleic Acid

(C) Both (A) and (B) (D) None of the above

RNA aowd :

(¥) Gun dadons B A (w) Yedado TBRIONT €52zt

(8) (®) 03 () 208 (B) & oeds cdoayze e
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26.

2

28.

29,

30.

Chandrayana-2 was launched on which date?

(A) July 22 -2019 (B) June 22 -2019
(C) May 22 -2019 (D) April 22 - 2019
0 DTWORY 23083,000F-2 YVEISHBIIALEP0DBOT?

(o) 228 wd - 2019 (w) 228e med® - 2019
(8) 228eBoe - 2019 (B) 228e d3ef - 2019

Expand WWW .
(A) World Wide Web (B) World Wide Water

(C) Both (A) and (B) (D) None of the above
WWWa 97 8 e

(v¥) [Sftr @ S (W) Its @° Totdoe
(w) (®) 303 (W) VB (@) ®oeds cdR)Be ¥
A social science is the systematic study of

(A) the natural world (B) models of reality
(C) human behavior and society (D) experimentation
TINLT I T=D) B BYNT 0IFTo gR0WE ©F 0bTZINE?

() S3NeT FIoe (0) Tu3odb IPWO

(@) BPTS BEIVE SR ISP (B) =0dechss

Who is known as the father of Indian Monsoon Model?

(A) Madhavan Nair (B) Vikram Sarabhai
(C) Vasant Gowrikar (D) C.N.R. Rao
WOUITW S000MTY 5003 IRWONY 588 0wy 03T, FE RN ?
(¥) SNFI® v (w) 535° ZoyTP0I*
() SHo3 rPdezo* (B) 2.00°.e0° oo

Internet can be defined as

(A) a software program installed on a computer
(B) an electronic device for printing documents
(C) a world wide collection of computer networks
(D) a power back up source

$030°EROET), B FYNT0I 309, W BPBWBIBO

(¥) resad038d BRImAE womd mPFHeo?

(W) DRSHYR) SHFL svsoleehzda ATTT TP
(B) 2Bwaw 03 rigsodos Y e ons

(B) WY BeadDeSob mFS

8/16
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31. Which of the following is not a primary pollutant?

(A) SO, (B) Volcanic ash

(C) O (D) CO»

32.

33.

34.

8 FYNBNYD, 03B T, PN IO S0OT B Fa0N?
(®) SO, () oL 2168

(8) O (@) CO:

The first formed photosynthetic organisms were

(A) Algae (B) Cyanobacteria
(C) Bryophytes (D) Plants

©),3 BoBexmn § 0508008 BtIE Sece e

() wd (W) ZSBpeendedain
(w3) wodneg st (®) AR

Drug is

(A)  produced by endocrine glands

(B) produced by exocrine glands
(C) are secreted through pituitary gland
(D)  externally administered chemical substances

Bagy

(®) 20BRES T [oPotod SUITS 03P TS
(W) BB T Kodowoen BZ I adRrigs
(¥) 283,60 roBAOS BT R

(B) PEHBI SabIE SRNY LesSonod

The discovery of ‘Cape of Good Hope’ goes to
(A} Columbus (B) Vespucci
(C) Vagellan (D) Bartolomeu Dias

‘Be' 9wt Becs® 3005 e.-sa‘ije;{z?

(¥) Bpoowzs (W) S22,
(8¥) Srieent (@) ms‘rﬁmcd:% @ods®

9/16 P.T.O.
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35. The only metal in liquid state is

(A) Iron (B)

Mercury

B= CRABBTOT 2.083¢ 2,000 SpeBI0x33

(&) ﬁaﬁuea

36. GM Crop means '
(A) Genetically Modified Crop
(C) General Method Crop
GM 39 20w8
(¥) WA IPRF W T
(¥) wuver Dye® s

(w) =Pwoz

AT

37. Layer of atmosphere in which ozone layer lies is

(A) Exosphere (B)

LR IBOF) PPOD TFITRE B SBIBTAH
(W) DoRRe20dT*

() BRI

38. Compound microscope has
(A) 1 (B) 2

T0H20w*E ﬁ%ﬁfgeﬂ@m‘

() 1 (w) 2

39. Hard water contains the salts of

(A) Aluminium (B)
NGIY AC0Y LINHORTLE @ mngo
(E:B) B%&Jf&}odoo

40. OFC stands for
(A) Optical Fibre Cables
(C) Optical Forged Cables

to.F5.2. Q0BT
(¥) @250° Fuo® Fewes

(w3) BT’ :u"_;am‘er %ez.)v‘N

Mesosphere

Carbon

(w) oo

(C) Calcium (D) Magnesium

(83) TQabo (B) Sohcaodo

(B) Gunman Crop

(D) None of the above

(W) N*=RE° T

(B) & B0edT 0InIF)Be v,

(C) Troposphere (D) Stratosphere

(w) wacdprobo® (B) = t80e0000°

lens/lenses.

(€) 3 D) 4
SIBAT / BORATHYTY, BRODT

() 3 (®) 4

(C) Calcium (D)  Iron

(8) w9ado (®) ®dw

(B) Optic Forced Cables

(D)  Optical Fibre Can

() 625 Fpeor® Fewef

(B) w25 Fwo' o

10/16
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41.

42.

13.

PART - B/ &mr - @

Answer ALL questions. Each question carries 2 marks :
aeamﬁ_,qlm"m 32 I8 a;q{m 2 vozney :

Which of the following technological advances are affecting
emotions and ethics?

(4)
(B)
(C)
(D)

YN ol 037 8@%@3&1} RPN SIS ©0T), Poss Fody

Bus, aeroplane, microwave ovens
Boilers, metro trains, television
Internet, cell phones, digital communication devices

Submarines, radars, missiles

Dedozg$?

(®)
(2)
(%)
(®)

VR, ISPT, BB e wes (oven)
WROVDE, Botdne dew, BeorBEs
BO30° R, ZeFPpent B3IV Britser mPDrieh

BOROIMF) FOF, dmo‘N;iJag o he

Which is the base of scientific development?

(A)
(©)

Physics (B) Chemistry

Engineering (D) Mathematics

32,08 USRI o0 alnF)mE?

) V353 W) Omxodadzes
8 () S,

(8) 20zdod0r (@) ness

Land Sat program began in

(A)

1972 (B) 2003 (C) 1982

O30T TR, 85° om0 D380 TR

(¥)

1972 (») 2003 () 1982

11/16

AT

(15 x 2 = 30)

human cognition,

®,8531¢ Soees BOBR

(D)

(@)

T Ml e B A

1992

1992

P.T.O.
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TR

44. Match the philosopher/scientist with their contribution :

45.

Scientist
Aristotle
Newton
Gregor Mendel
Galileo
(A) A=iii,B=i,C=iv,D=ii
() A=iv,B=1,C=ii,D=iii

goa W g

ii.

1.

iv.

Contribution
Three laws of motion
Laws of inheritance
Gravitational force
Scientific method
(B) A=iii,B=iv,C=1,D=ii
(D) A=ii,B=i,C=1iv, D =iii

332590/ w39 Iri¥ Femortodeoddirt BB WBWD :

20
A Clenpl oy
B. st
C. rjio® SooBes
D rtddalec
(¥ A=i,B=i,C=iv,D=1i
(w3) ‘A=iv,B=i. C=1,D=iii

Match the correct pair :

Diseases
A. Typhoid
B. Tuberculosis
C. AIDS
D. Pneumonia

(A) A-4, B-3, C-2, D-1
(C) A-2,B-4, C-1, D-3
ktelovbnia) ﬁ.:aet%obaﬁi o8y :
Faoelneo

A= 8ed aéd
goddueer
DHEEE

~
aagﬁsaaeéd evdodrnce
(¥) A-4,B-3,C2,D-1
(¥) A-2,B-4,C-1,D-3

vowr

1ii.

iv.

L B e

il

¥olsSlat
Bodod Ity AobEoned
osoS08ead Qodborieh
ROCITFRET B
0,08 dpesn
(W) A=ii,B=iv,C=i, D=1
(@) A=i,B=i,C=1iv, D=1l

Causes
Pneumococcus
HIV
Mycobacterium

Salmonella Typhi
(B) A-3,B-2,C-4,D-1
(D) A-1,B-3, C-4,D-2

Fa0 e
meﬁcﬁsﬁ
DUBE.0.D.
;S%Meuaﬁ&eaaim
(4]

mosesen

(») A-38,B-2,C-4, D-1

(®) A-1,B-3,C-4,D-2

12/16
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46.

47.

48.

49.

LED stands for

(A) Laser Emitting Diode (B) Light Emitting Diode
(C) Light Emitting Device (D) Laser Emitting Device
LED »0md

(0) ez’ adutdont Boleewt (W) g d20t30n* Bodeen*
(23)  eles >2esore aI T (B) G0 adokdont B3

Pradhan Mantri Awaas Yojana of Government of India is meant for
(A)  child development (B) house for individual

(C) skill development (D) none of the above

PRUS 350 I 2008, s593° adecssodn S 2YAT oba;é)dﬁa Radeewsodnhd?
(o) DS ?933-?'3]5?3 (w) ﬁJaaimwwmﬁMam oa

(8) PBe wdH (B) 8 e 3IRI)TH we)

Which of the following states in India ranks first in the installation of wind
power?

(A)  Gujarat (B) Andhra Pradesh
(C) Maharashtra (D) Tamil Nadu
I3 Bob eaaima@ﬁaﬁ INEOTY 270030 5 FYNS ol 0az3.a) SRBodobwmaN?

(9) rowoes® (W) sogzdes

(8) weoad, (B) 320¢omeE)

The process of introduction of weakened pathogen in to a human body is called
(A) Vaccination (B) Immunization
(C) Attenuation (D) None of the above

BWEO SetRmnda), BT desd, S0 B3 abob, B el Bedennad
(¥) =3Fen’ (v) WBVIIeaEn®

(8) esUBy DR (B) B0 cdnI)nn we,

13/16 P.T.O.
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50. The word “Agriculture” has been derived from

51.

52.

(A) German (B) Latin (C) American
“Agriculture” a0 zﬁdﬁﬁ‘% VoW BEobheRnd.
(¥) =FRs (W) o’ (¥) e©Bocden®

0 A

(D) Arabic

(B) oSt

What are the causes for low agricultural productivity in India?

(A) Social environment

(B) Pressure of population on land

(C) Lack of credit and marketing facilities
(D) All of the above

PUSBA FAD B A émaawdﬁﬂ S0 envIm)R)?

(¥) 3»s 0=
(») PR Boees w0801 23T
(8¥) =meosd drod S0 SToTES H@Wﬁ 303

(B) e 200

Importance of information technology in education are

(A) Faster access to information from across the globe

(B)  On-line libraries and dictionaries, make grasping and learning easier

(C) IT based communication systems such as e-mails, SMS help interaction for

clarity
(D) All of the above
80009 Snbd 3032 an D B0y

() BTous Sane 0eSHY0T Sez, Fnbs o3

(W) &'~ Rjow Womes 3 BLsFRvon dxabe Bew, s 3%y FFoD e

(¥) SBnbi-303253535003 F0TIBT FINGE 7-J0eek, SMS 1508 373

(B) Seds a03p

14/16
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o3.

54.

55.

Most likely even which can cause a rise in the average temperature earth’s
atmosphere in future is

(A) Forest fires

(B) COs: from fossil fuels

(C) Dust clouds from volcanoes

(D) Depletion of earth’s ozone layer

?ﬁ&%d&?ﬂ R0 smai)afddq A0:3D BIJNETE 0% iz a%maﬂﬁiod 2023203
mq{sﬁi £&i)u'?

(&) o,

(W) JFodwIF YTB/NPOT VoIS ROMOLIIE).

(@) maemﬁaaaﬁﬁ%?od Mdﬁﬁ%&ﬂ BRID SecENY

(B) Peod tteee’ 608 3389

INTELSAT stands for

(A)  International Telecommunications Satellite
(B) India Telecommunications Satellite

(C) Inter Elecommunications Satellite

(D) None of the above

QL (58 A7 3 S

(¥) ot Ty s 83 T30 TS 7o 368 b5°
(») <=@8ad®» esam%mwagmaaeaw

(@) =oto DOTINFEBT? moLeh et

(B) Socds cdnz)me vwe

How stationary waves are formed?

(A) A transverse wave super posing a longitudinal wave

(B) Two waves of the same speed super posing

(C) Two waves of same frequency travelling in the same direction
(D) Two waves of same frequency travelling in the opposite direction

A0 udrieh Berf evotsarygs?

(@) womd 333 vdodn BB OD 8S0dR0BET oees DesmyEdow
(W) wode Sena HVB> weSRe 0BT Boeel oy (AleSmjlntslolng

(¥3) wode es33ad HVE> weSneh worde SLINURIS o afolelat

(B) wode 3 3ad HUGL veSRe) A0OT, BTV, AR BOE

15/16 P.T.O.
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SRI BHAGAWAN MAHAVEER JAIN FIRST GRADE COLLEGE

I Geetha Road, Robertsonpet, Kolar Gold Fields - 563 122
Accredited by NAAC with B Grade

Associated with

Bhodhi Vruksh

Certificate of Completion

This is to certify that

Mr./MS. ...ooeos eé.!/.?s’.é!....geaﬁéi ................................

has successfully completed the certificate course in
Gender Studies

conducted by Sri Bhagawan Mahaveer Jain College, KGF,
held from 10/07/2018 to 10/10/2018

in association with Bhodhi Vruksh, Bangalore

Mr. S%
Secretary, BHodhi Vriksh

.9‘-9—1 Date of Issue: 30/03/2019
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Dr. Rekha Sethi
Principal, SBMJC, KGF




